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(1) 5x+y—3x—6y (2)
(3) (9x+5y)+ (2x—6y) (4)
(5) (5a—3b)—(7a-0) (6)
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(1) (=3x+2y) x4 (2)
(3) —4(—2a-30b) (4)
(5) (15a—40b) +5 (6)

(7)) 3(2a—4b) —4(—a+2b) (8)
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6a—3b+a—20b

(422 —=Tx+2)+ (-52°+x-3)

(32°+7x—-5) - (—22°+3x—-6)

2£mg
(5 5 ) =15

—%(—12x+18y)

(—16x+24y) + (-8)

—2(52+3y) —3(x—2y)
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(1) 2xX5y (2) (=3a)x(—-50b)
(3) 6ax(—2x) (4) (=3a)x(=2b)?
(5) 24y~ (—3x) 6) (—14a*b*) ~(—7ab)
7 oy (- 2) o gL
(9) 242y~ (—8xy) x (—2x) 10) 30xy*+ (—3x) 5y

5 w=5 y=-20r% X3(4x-2y)-5(2x-3y) OME KDL 2\,

6 koX%E, [ ) OHOLFIZOWTIHX R S,
10x+2y=3 (y)



